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Algebra I Class Worksheet #2 Unit 4

Complete the table for each input-output chart shown to solve for x.

1. 2. 3. 4,
Input 6x+9=21| 6x+9=p 6x+t=p mx+t=p
|
\.|/ subtract9 | subtract9 | subtractt subtract t
0 Ell'gstgon from from from from
p | both sides both sides both sides both sides
N
Output
|
q N2 i divide divide divide divide
econ . . . .
Operation both sides both sides both sides both sides
\]I/ by 6 by 6 by 6 by m
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Solve for x.

29. 7x—-d=m 30. ¢cx—-S5=p
7x=m-+d cx=p+5
x=mtd x= 2T

Good luck on your homework !!

31. nx-7=1 32. ax—-w=17
nx = § ax =w+7
x= > x= ¥*+7

n a






